
ATLAS SCT Module Response Curve  -  ABCD2T  -  Polynomial fit

Run 1493   Scans 12 - 37   Charges 2.00 - 8.00 fC   Module 0   Stream 0
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Response Curve chip 0 p0       = 94.39 +- 8.761 

p1       = 55.07 +- 4.373 

p2       = -1.052 +- 0.4712 
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Response Curve chip 1 p0       = 89.99 +-  7.52 

p1       = 58.31 +- 3.662 

p2       = -1.255 +- 0.3909 
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Response Curve chip 2 p0       = 81.64 +- 7.966 

p1       = 62.74 +- 3.923 

p2       = -1.506 +- 0.4192 
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Response Curve chip 3 p0       = 84.71 +- 9.249 

p1       = 61.54 +- 4.424 

p2       = -1.467 +- 0.4639 
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Response Curve chip 4 p0       = 103.8 +- 6.855 

p1       = 52.04 +- 3.347 

p2       = -0.9013 +- 0.3616 
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Response Curve chip 5 p0       = 94.02 +- 6.639 

p1       = 56.42 +- 3.046 

p2       = -1.199 +- 0.3149 
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